
Вариант № 2015

1 / 1 РЕШУ ЦТ и ЦЭ — английский язык

Установите соответствие между репликами-стимулами и ответными реплика-
ми. Выберите один из предложенных вариантов ответа. Одна ответная реплика
является лишней.
 

РЕПЛИКИ-СТИМУЛЫ   ОТВЕТНЫЕ РЕПЛИКИ

1.  Thank you so much for all your help.
I couldn’t hâve done it without you.
2.  I’m working really hard for my exam at the moment.
3.  l’m really sorry that I lost your dictionary.
4.  Are you interested in science?

 

A.  How’s it going?
B.  Never mind. It can’t be helped.
C.  Not really.
D.  I couldn’t agréé more.
E.  You’re welcome, but it was nothing really.
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